- Which of s ollowing games is NOT incude i
Olympic game
(1) Football ) Gol <8
) Badminton B eckey |
(5) Table Tenni |
VR s the name of & leading.
(1) Retail Store Chain .

(@) Trousers Brand

(5) Muliplex Chain Operat |

. honosga e ollwing e Soiio Geusalof |

India a
(1) Rohinton Nariman
(2) Harish Salve
) Abhic Mo Sighvi L
opna
)N

. o Poaoce Bil 201213 gave the Tncome Tex

Department powers to revive its € 11,128 crore tax
demand on

(BhaiArtel @ T ndioom
e Lc]lul!r (4) Vodafon

T |
Vi o tolowni suie o g way s
individuals and organistions of Asian countries for
excelence intheie respectve ieds

(5) Osear Awards
Who from amongst the following is the founder of

“Facebook’ ?

(1) Steve Jobs.

(3) Sabeer Bhatia

s }
|

(@) Steve James
() Mark Zuckerberg

10w e
2

hich 8 e TOP Gold produsing country n the

(S anbia @) Chins

Stﬂd,vmatmalmm O e e g

2.

) Singapore (4) Kuwait
() India.

‘Which Indian ity is known as the ‘Garden iy ?
(1) Udai (2) Chandigarh

@) smgn & Dol

)My

. Who amang the following Indan Cotestant i the

2012 London Olmpics 10 metririfs vent won
bronze medl 7

(1) Gigan Narang
0
) Ar

) Vijay Kumar
(4) Parupali Kashyap

10. wmm i llowi i o profisine grup o

venty20 cricket. championship,, initiated by the
(1) Indian Cricket League (ICH
(2) International Cricket nguc (1cL)
(3) Indian Premier League (TP
(4) Cricket Club of India. «crn
(5) Indian Premium Leaguc (IPL)
Who amongst the biloving s the author of the
English novel“Tie Whit Tiger
v e
(4) Shobha De
(5) Amavind
Manesar, which was recently in news is a town i

(1) Himachal Pradesh (2) Puniab
Gujarat

(5) Utarakhand

‘Whois the author ofthe book ‘Fifty Shades of Grey 7"

(1) Jeffery Archer~ (2) Norman Lewis

(3)EL James (4) Edward Kiein

(5) Shashi Desbpande.

. Rockefeller Foundation has recently conferred

lifetime achicvement award for innovation into
business on

1) Al i Arban

(2) Barack Oba

5 Genesl VK Sngh



{4) Narendra Modi | @Rightto be informed
(5) Ratan N. Tata (5) Right to Negotiate
‘Under the RTI Actthetime for isposal of request for | 23, Which of the following s » book authored by Shri
information in cases concemning life and liberty is Pranab Mukherji

(1) The Inheritance of Loss

e @ 15days @) The Argumentativ Id

@104y @7ds | () Beyond Survivl: Emerging Ditensions of dian
@ 48hours | omy
. Which of the following awards has recendly been | (4) The Family and the Nation

conferred upon Shri DR. Mebi for oustnding | (9 e ot

contrbtion tovards the promasion of communal | 24, Formanagement o aural esoscesh ndis Spce
Hamony, pescs and goodwil Research” Organisaion. (SRO) has. Sccesshuly
() R Ga o1 ey

o 201 (1 Indian

(3) Rajiv Gandhi Quality Award 2012 | (2) Indian National Satellite (INSAT)

(O RuvG 20 Launch Velice (GSLY)

, 201 | Luunch Vebice PSLY)

srsement of co-opevion 0 8 prquiie o | 25 .
nucleae Swh | (1) Relince @HNDALC
agrcment s populary Known s .- G Tie0 prre

) Ageamer ofCooperon

(2) *123" Agreer 26. \Vhlc!mlmefollnwmg Indian states has topped as the
rLas | sttt v i 515 o

9 A0 A

e studqutena}%ﬂ el

9.

(2) Haryana.
. Which o folloving sporsman rcenly cinched 72 () Mabarashis * () Tl Na

the French Open Singles Tile for the sevendh fime (5)Bibar
i e me ? 27. Whichof the following s NOTa Pubic Setor Bank ?
(1) Roger Federer (2) Rafacl Nadal | (1) Corporation Bank (2) United Bank of India
(3) Novak Diokovic  (4) Robin Soderling | (@ ViayaBank  (4)Bank of Maharashira
(5) Martin Verkerk (5 Federal Bank
World ‘No Tobaceo Day’ is observed every year | 24, A form of intenionsl weather modifcsion by
= changing 0 trying the amountortype
(O3stnury (@) 315t Ma {h A ot ol b dpersng ibinec i
@315ty ) 315t October cloud condensation s call
(5315t December (1) Cloud Compuing.(2) Cloud Technology
. Which of the following is the mame of a Chinese | (3) Cloud Seeding . (4) Cloud Conrol
spacecraft? (&) Clowd Engicring
(1) Apollo 18 @) Soyuz 7KL 29. Who amongst the following cricketers has been
3)&h=n7}mu° (4) Kliper | chosen as. m: “Event Ambassador’ by the
(5 Hem | oo Crkes Couei 1O) o e Word
.Eummunwullh Games 2014l ettt __ up Twenty 20 Championships o be. held
(1) Gl September-October 20127
) Cuseuond () G ot (1) Lasith Malinga
(5)Beijing | @ Mabe Jayavardene
. Whichofhe follwing s NOT a ComsumerRightss | ()T M Dilhan
per Consumer Protection Act 1986 @ Sachin Tendullar
(1) Riht o Consumer Education (5 Dincsh Chandimal

(2) Rightt seck Redressal 30. ek te Follwing birds b e dechared s e,
3) Right o Saety | tatc Bind" by the Government of Delhi State




- mu

(1) Parrot (2) Pigeon
O HoueSparon (0 Ponock
(5) 5w

. ‘CHALLENGER' i th pame o a

(1) Planet ) Nuclear Weapon
@ u) Space Shuttle

(5) Automobile Brax
. Which of the lollnwmb s India's largest trading
o

@) China
(usa (@) France
(5) aly

. The North Atantic Treaty Organisation (NATO) is

36. A new scheme has been announced in the budget
L iy ingf cxemptionsto fit e cquity
arket investors, The scheme is fle
{0 Raiv Gandi Exiy S S
(2) Rashiriya Eqity Savings Scheme
(3) Nationsl Equity Savings Sche
(0 o G Bty Sevog St
(5) Prime Minister's Equity Savings Scheme
. Which of the following Countries is expected (o
oot s it i e e e
> chn.

@) Brasil @) Russia

(#)India ) laly
. Which of the folowiag Asian Countries has recently

headguartered st
(1) Camp David. Maryland USA ammounced a scheme for dual citzenship on May 16
@) Geneva 20127
G)New York (1) Blutan @ Bangladesh
(@) Sweder (@) Sn Lanka () Nepal
©) B i yas
. Which of the following is the abbreviated name of Voo e enes & Blomagta oot o
o st | dppied oo of s by
of India to o promote youth and social developmes Authority oFiis
i () VS (@) Rabul Khullar
()N @ PYKKA @) smimAna (DK Mita
Greais (@) AABY (5) Navin Chawla
(5)SGSRY z
Vho fo datory for all assesses whose

£

Governor of RBI?
(1) Shri P Chidambaram
(@) Shri Yashwant Sinha
(3) Shri Pranab Mukherjee
(4) Shri Man Moban Singh
(5) None ofthese

e —
(1) 5 lakh during the fiscal
(@)% 10 lakh during the fiscal
(3)2 15 lakh during the fiscal
(4)2 20 lokh during the fiscal
(5) 25 lakh during the fiscal

NERAL ENGLISH

s (149 Read cach soince o v ot |
whether thre o any grammarical ror
v, oy wil ¢ it o art ofhe sentnce. e
u.,mnm/wnp«m theanswer Ithreis o ror
e 5 9) 16 o By’ lgre erors of
’rummulwn\ ifany),
(1) a daily wage worker/(2) who gone to
v.nlk/(!]d:splwhwmglngh fever(4). No Error(5)
Radhika was v (1) because she had to
20es2) t0 8 Iwaldmb Sl 0 she ried e
entirenight (4) No Error(5
Although Shankn was born(1) in a ch merchant's |

familiex/(2) he was very humble and(3) was a
(4) No Error (5

Professor Shasti were/(1) a loved man andi(2) had
students visiing!(3)him every day.(4) No Ertor (5)

45. Reetu was a model(1) and so she would(2) starve

erselfto maintain(3) hisbody weight (4)No Eror (5)

fas a

ich blank indicates that something has been

omitted, Choase the word that est fits he meaning of
the sentence as a whol.

46, Rajeey was upset becatise he forgotten s
bost s iy
o @) shall
Bl (4) might
o ad
47, Raj introvert end would pefer tosit i the

Tty s a0 ot wih e,
(1ythe @)
@ for

@ like
S)an



z

]

3

Killd him at (70) studymiateri

) drank @live

) feasted @ate e
(5)mixed
- Dihogiatie vy

@) nice @) smalter
&)ty
. (1) nor @

@also Gnever
©but

(1) moving @ asteep
@) snoring @) slcping
() snored

(1) doing. @hear
@ give @see

@) listen

(1) made @) reired
@) went ) came

) enered

s @) resraint
@ helped @ conrol
) instuct

W) leapt @ lited

@) siept @ removed
©)jump

1) depress @ wait

) discomfort — (@)oy

bloodof aking. 1 have heard thatit s delicous beyond

compare and I long to have asip of . Please llow me.
abite ofthe king it once.

i lea,  suck the blood of the king
st (64). 1 am careful o bite him s0 gently
that he never focls my bite. You are much (00

mysel” The la wasdelighted o (69)
Tl whileae, h king (66 is bodroom 0 lcp.
e flca grew very okl when he saw the King s
Pl body. “Remerabe what 1 6 you? the b
B wormed.“We have o wal il the ing i i dep
i befors e begin o fsst ™

e e e nd ol
(6 il ok e g

70. (1) best
@all

(2) immediate
@ end

(Sonce

Directions (71-80): Read the following passage
carefully and answer the questions given below it
Certain vordsiphrases have been printed in bold 10
help you locate them while answering some of the

questions
Long ago, » Brahmin called Haridata ived in a litle
villsge. He was a farmer but the piece of land he.
et i i i e 0 s
tht he was very poor.

(O, e ot the et of o summer s,
he went fo rest for a while under a big ree on his land.
Before he could stretch out on the ground, he saw &
huge black cobra slthering out of an anthill ncacby.

e
indeed. He immediately ordersd his servanss fo irip
his bed and find the insect that had caused him suct

(69). The king’s men pulled the finen off the bed and
examined it closely. The fla, seeing the commotion,
flew away 1o & comer of the room and hid behind &
curtain, but the servants found the poor bed bug and

(5) paiing

and he thought, “This cobra must really be the god of

m nwards, T will worship
him.” He hurried back o his home at once and.
returned with a glass full of milk. He poured it into 3
bowl and turning to the anthill said, “O rule of the
you swere living in this anthill.
“Thatis why | have not paid my tribute fo you. Please.
accept my apologics for this omission end accept his
humble offering " He then placed the bowl of milcat
the entrance'of the anthill and It the place.

t day when the Bruhmin arived to work on his
land before the sun rose, he found a gold coin in the.
bowl he had lef at the antill. He was very happy.
indeed and from that day on, he made it a pracice fo
offer the cobra milk in @ bowl each day. The next
moming he would collect a gold coin and lcave.
Haridatta had 10 g0 1 neighbouring village.
‘on business. He asked his son 10 g0 o the anthill s

the net day and collected the gold coin be thought,
“This anthill must b full of gold. I kill the cobra,
cancollectallhe ol anlasant e fvig
to waste my time coming hero every day.” He then
struck the cobra with a big stick. The ey deftly
dodged the blow but bit Haridati’s son with his
poisonous fangs. The boy soon dicd. When Haridatta
retumed to his village the next day, he heard how his
son had met his death. He realised at once that his
son's geed would probably have caused him o atack.
the



Brahmin went o the anthill the day afier his son’s

d milk tothe cobra as sul, This

 oven come.out o his hol.
ot e caB o oo, Yo

lere fo o, forgting that you have Just st 3

presiousson i hatyou sty ouring T eason

S

(4) Haridatta And His Son

(5) The Mouming Father

‘Why did Haridatt’s son ey o kill the cobra ?

(1) The cobra had angered fuin through his behaviour.

Bl Rm e
Killed several

! our elaionship, T am gong 0 giv ou a diamond

(3)He believed that the m.u o i e cobrs

e e i e ]

4 thought the cobra would bt i f he went
near i

71 Whichofthe llowingis TRUE aceordi
e lowig ATHUEaiog = IOBAHT | () e e s o ot sl
(2;mwm gave ﬂam(ulmadumuml cvery day. Directions (76-78): Choose the word/ group of wor
N Shaeta Sk e mar s e o
um.nduu hud i o why the cobra had of words printed in bold as used in the passage.

il 76, HUMBLE
) Allae e (e Dwse @mesk
72, Wit s the cob's i i o the Bratin? odest low
o @ A dimond 77, ASTONISHED
) Mo @A goteon O pened Dupet @t
&) Noncof ) Rt ) suped
73, What i Harkdats i on sesng the obra fo the | 78, STRETCH OUT
it ime?
() liedown @ ()
) The cobrsyasdivineand he would et ol ons (4) clongate St
from it if worshippec Directions (79-80): Choose lhr mrd/ group of
T b (e g ofis s b e | e ik moop s g B
s o ors it b s i b psare
.(l)nm\bly (2) artistically
@ ::; o v sl s vy Bk el
7 (5) luggish

74, Which of the following i possibly (he most

;,rw""”“;"“;{:,';‘;* By Dot @ quicly
o e B ) at once (4) one cach day.

2) The Foolish Brahm
3) The Brave Cobra

Directions (81-85): W¥at approximate value should
o e s e e
questions ?

(NOTE : You e not espct o et the vt

)
e ismxsnss U=

81
@900

G () 5480
(5) 8800

82, 16928+ 247582 - 5015 =
W3s @40 @2
@1 (5)45

83, V7,938 % (6.120)" - 49256 =7
70 @535 @30
@25 (OL

8.

16046283 0,599 =7
m3s @79 @19
@56 ()62

963+ (4895)° 924 =7

60 @35 @85
@as ©25

Directions (86-100): It should come in place of
the queston mark (?)inthe following questions.

86, (1219) + (13 x8) = (15 x 14) + 7
(124 @12 @12
@ (5) None of these.
7. 3651250+ 54
[0 @28
@784 .

(3) None ofthese



88, 15% of 524 — 2% of 985 + ? = 20% of 423
)259 @217

Dirctons (101:105) Sy he ollving b iraph

@257 ‘ carefully to answer the g
(9 Noneof tese | Niarks Obiatue by ive Seudents I
B9, IS1 X8 +(228+19)° =7 posand Chemiony,
1360 @154 1368
@11 ) None of these
90. 152+ V255 =7
Wss @ss @
@6 () Nonc ofhese
91, 38734 + 86385197
@aeim  @am
() None f these
@8 @ |
93. 512 + 416+ V576 = ‘ ity
“7 24 @31 on 101 Macks abaied by § i Chentisy is what percent of
@18 ) Nocofthse he ‘btained by all the students
4 U= (6x19- Cranisry?
s @56 61 W2 85 @3
(5)None ofhese @3ns 62
| 102. fthe marks obained by T in Physics were inreascd
265 @ ate percentage in Physics if the maximum
() None ofthese . i pe s iy
+7 { \U57 @3 Q)3
@s02 @456 | @as 5)41
(4) 504 (5) None of these 103. MII in me blmk «pu; in order to make the sentence:
e Gomined by T in n bo b sbjcs g s more
han the marks o
(13842 @3795 33643 MQin Chcmmry () Rin Physics
@324 (5) None of these OSnumisty (P inPiysic
98. 2or2or =426 © the s et
cai | 10s Wi i e rpecive i betwen the ol ks
12490 @265 275 Pyt ey g
s (5) None of these: mmll;mt:p obtincd by T in Physics and Chemisiry
e | s @43
T 7 ()s:3 @2:1
“’* 25 O (5) None of the
105, What i the respetve rato betwen the total marks
S e olice ‘obained by Q and S together in Chemistry to the total
marks obiained by P and R ogether in Physis ?
23:25 @B @i
17:23 5) None ofthese
02 o2 @ Pl e e RN
& cacelet. At whatrteper braceletshould she sl e
@ (5) None of these. ‘bracelets so that profit camed is 15% ?



(hTisa- @186~ (3)T1920- | 114, Average of five numbers is 61. If the average of first
s
w. ‘ 4 -
e T oy
. 1 s o o €| 03 2
S et Ko e s
QEr e dt ol e i A it
bt e " fthe,motherand daughtrs 762, Thediffrence
Rl B e S M e
ther number. What s the ratio between the first ‘What s the father's age at present ?
‘and the second number respectivel (1)43 years @) 42 years
1)35:6 @31:7 (3)39 years )38 years
@23:7 @3»2:9 (5) None of thes
(5) None of these: | 116, Average weight of 19 men is 74 kgs, and the average
109, Area ofa rectanguiar fcld is 3584 m and the length weight of 38 women is 63 kgs. What is the average
‘and the breadth are in the ratio 7 : 2 respectively. What weight (rounded off o the nearest integer) of al the
is the perimeter of the rectangle ? men and the women togeth
(1) 246 m. @292m (1) 59 kes. (2)65 kes.
(3)286m. ) 288m | ®69kes )67 kas.
(5) None of these (5)71 K
N L e oo s, 0 e i T e
there in the school if the number of girls is 175 percent 32%0f 750 <2
of the total number of boys in the school thigggtylndtterialL23% of 600 (2)46%of 207
(1) 854 rJg (3)98% of 250 (3) 75% of 320
@798 @72 B O Nowofihese
(5) None of these: | 118, Mathew scored 42 marks in biology, 51 marks in
111, Aryan got 350 marks and Vidya scored 76 percent chemistry, 5§ marks mathermatics, 35 marks in physics.
marks in the same test. If Vidy scorcd 296 marks | and 4» marks in English. The maximum marks a
more than Aryan, what were the maximum marks of student cap score in cach subject are 60. How much
el A e
(1) 650 (2)900 m @82
; (oo S om
(5 Noeorts | SNewoties
" 115 B et Mg i il
: iy
igi him | 2114/,
e el el O R R e S
Tt s st e st e o (yesos. ress:
(1) 58 @68 3Ts572- (4)T 560/~
3)63 (4) 56 (5) None of these.
e 20k e 41368 e s
113. 855 candidates applied for  job, out of which 80% of in 8 hours. How much time would a car take at an

the candidates were rejected. How many candidates

were selected forthe job ?
(1684 @151
3) 676 @1
(5) None of hese.

‘average speed which is 18 kvhr more than that of the
speed of the truck to cover a distance which is 16 km
s B el b s tnk
o @ 5hrs

@8y
Rl



REASONING ABILITY
131 oot s s it
WonpERs, S Wil % oy Vot
cin in the word (n boh forward and

i
etween diffrentelements s shown in the statemens.
These statements are followed by two conclusions.

Give answer (1) only conclsion ollows | Sackward diecions) 12ty v btven thm in
Give answer (2)if only conclusion I follows e Ergih fpa
Give answer (3)_ifither conclusion | or conclusion (1) One

1 follows | o {6 Mor e e
Giveanswer (4) if nether conclusion 1 nor | (5) None

conclusion I follows 192, In  crain code lngusge, DRINK i coded 13
Shvesomen () thath cocios i 1 tow IMHQC" nd "BLOTS 15 coded as ‘RS
Y R2S2T>U>XT<V< the e code anguage, ‘HONEY” will o

LR>X ILX<W

| hwioa (2) GNMDX
() XDMNG (@ DXMGN

y the e formain
s e ok
Toweaty shaents s sanding i sraight fie ting
| norh Rina is sading i o he e e

el et i
: LKSG K>D Rt e sanding exatly bensoon Skt dnd R
138 Wit of e flowing i con pext: i the Tina is standing sixth to the right of Radha. Anita is
following seies sanding ot Fom e gt e of e e T
090190129012390123490123459012345 o tha ot stdcnts betwee Rinaand Ti
( )6 (& lﬂAdymatawmw mlny peaple are standing between Anita and
@7 94
Divections (127-129): Sy the given informationE (1 ome @ Two ) Three
carefully and umv]wer lheBgl Zn gwri rp | (#)Ne
Among six Bl AanC D Feo | 134, Whatis Shweta's position with respect to Anita ?
different age, A is younger than only ) Only three (1) Sixth o e loy et

e younger than C. Fis yowger than E. Fis | () SRS IS8,

ot he youageat
& 5 i () Ninth o the et
i therh @ Ninh o the
; e 138, Fhic f e llwing wil ome i e o f e
) None ofthese : 3 o
125 163, e Do
VUS| RQO 7 1
11 D2 vy WrMy @we o
Qo @17 yean Mo
o) Diecins 136140 Sy the gvn informasion
129 o ey e s ol el
fn Eight peopl -1, K. L, M. N, O, P an anunum
e o wromd & Giculr’ able fcing the sce, non
5 More than four necessrly inte s arder O st (i ot
130, Tal s elated o Speak’ i
Honest! s relater o “Troth e F“"W"‘l m& same ‘ and J, There are only three peaple between J and K. P
loge Tl " V| i an mmedise neighbour of ). Thrsare anly e
MM @Fars | peoplebeheen P and LN second i therightor
@ Her @ lgnore | 136, Whih of the folowing s true egarding te ghen
(9)ound amangement ?



L

o )
198-Four ofthe fllowingfe e sl
based o

)
139, Wha

140,

¢
141, Statements : Som

(1) Mis an immediate neighbour of K
@Nisn mmedistenegibour o
(3)P s second 1o the le of O

4) There are four people betweea N and 0
(5) None i tru

Who is sitting second (o the left of the one who is
g second o Q7

1) @K

@GN

|

a certin way |
n their seating posiions in the above

144,

Statements : Some participants are students.
‘Some students are boys

1. No boy is a paricipant.

11, Allboys are participants.
5. Stntements: All arrons are .

No bird s a reptile.
Conclusions : 1, No spatow s aept.
11 Some reptiles are sp

Divetions (1461507 Sy the gver information
carefully and answer the given questions

Audtions o show were bl nsvn il e
tumbai, Delhi,

Conclusions :

belong to the group?
1 PQ @M |

@KL
#)00 ()KO
tis N's position with respect 0 K 7
(1) Second o the left

(2) Second to the right

) Third 0 the lef

i sty el i betwszo K. P e
counted from the right
(Done (Z}Twn ) Thiee
(4) Non e than e sty
Dovclions (41148, o each o he STt
below, two siatements are given followed by twof
conclusions numbered I and 11. You have 10 take the

m 10 he at

eride which of e g concisions. ogically
Jollows from the given statements disregarding the
commonty known facts

Give answer :

(1) ifonly conclusion I followis

147.

Tt mintn o nesayin o
durin the fist seven months ofthe year 2011 (strting
in January and ending” in July). The auditions werc
bkl s Gy g it
betsicen the Kolkata audition and

immediately before the Bhopal auditon.
audition was not beld in May.
many iions were hed betwcen the Munbai
tion and the Cher
1)0ne

‘The Bhopal

Non (5) More than three.
Which o the folloin sements s tue csonding
1o the given sequence ?

(1) The Mumbai audition was held n July

(4) Kolkata audition was held in January
(5) None i true

g; 'i":':”"““:'“" "I’““"‘“\ S 148. Four of the following five are alike in a certain way
if either conclusion I o conclusion I follows ased on the given sequence and hence form a grou
@ 1 follows L i i
ifbetnconcisicas w1 ollow (1) anuy Kol 2) Marc-Bgaiore
- @) une (4) May-Delhi
e (5) FebruaryCheaai
14, Durng March,the mudiion was beld in wich of e
following cities 7
(1) Bangalore (2) Kolkata
(3) Mumbai (4) Cheonai
quenes. (5) Nore of these
L. Atleast some queues ace lnes. 150, Th audiion in Mumbai was bld in which of he
Soia1poge 3 soshinks. (1) July. @) May
ks arc computers. (3) February (4) March

e

(5) None of these
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161, The target group fo a Cor Loan is | (@ Good communicasion ils
1 Allpmons g s | O Comeonsraure
)G o (5) Perseverance
(1 praes 170, Listof people who do ot wish o receive teemurketing
() Carsi | camsis
162, Sundard marketing pratiesinclude (1) Dare Not Call List (2) Do Not Call List
] (3) Do Not Dial List  (4) Do Never Call List
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